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RIEEE: NO2
4H 5H 68 7H 8H 98 108 118 128 18 2H 38 A5t
LAz + B BT AhBIE B 26 30 30 29 31 30 29 30 30 29 28 31 353
2 B RS 636 733 714 714 740 715 712 714 732 713 668 739 8530
F 915 (ppm) 0.010 0.006 0.006 0.007 0.006 0.007 0.009 0.012 0.016 0.012 0.016 0.011 0.010
1B 1 E D &= 5 (B (ppm) 0.095 0.029 0.041 0.041 0.021 0.018 0.030 0.036 0.047 0.044 0.065 0.053 0.095
B £ #1E D 5 = {E (ppm) 0.024 0.012 0.010 0.012 0.011 0.010 0.018 0.020 0.034 0.032 0.042 0.035 0.042]
1BRAEHY0.20pmZ #E % 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REE AY0.1ppm L E0.2ppm A F D BRI EK 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5 {EA0.06ppmEFEZ 7= H E 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1{EA%0.04ppm L _E0.06ppm L T D H 3k 0 0 0 0 0 0 0 0 0 0 1 0 1
LRz 8k A AMRITEEE 22 31 13 19 31 30 31 30 16 2 28 31 284
I E B RS 564 743 307 485 744 718 741 718 391 56 672 743 6882
SE5{E(ppm) 0.006 0.006 0.006 0.007 0.008 0.008 0.010 0.011 0.014 0.021 0.018 0.013 0.011
1B ] fIE D 2= = {B (ppm) 0.035 0.044 0.020 0.024 0.045 0.034 0.030 0.034 0.042 0.046 0.073 0.054 0.073]
B FHED RS E(ppm) 0.013 0.012 0.009 0.010 0.016 0.015 0.018 0.019 0.023 0.029 0.038 0.035 0.038
1BFRR{EAY0.2ppm% #E Z 1= BF R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERR{EAY0.1ppm L E0.20pm LA T D BRI 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
B {8 A%0.06ppmZ #8 % 1= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B $5{EA%0.04ppm L E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
XEZHH AhBIEB 28 31 30 29 31 30 29 30 31 29 28 31 357
72 B RS 688 740 716 715 740 715 715 714 738 715 668 739 8603
F 95 (ppm) 0.008 0.006 0.005 0.007 0.006 0.006 0.008 0.011 0.016 0.013 0.014 0.011 0.009
1B 1 E D &= = (B (ppm) 0.037 0.033 0.019 0.019 0.018 0.023 0.025 0.035 0.046 0.051 0.058 0.046 0.058
B £ #1E D 5 = {E (ppm) 0.016 0.010 0.011 0.011 0.010 0.009 0.013 0.022 0.034 0.032 0.034 0.031 0.034]
1BRAEHY0.2ppmZ i 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REE AY0.1ppm L £ 0.2ppm LA F D BRI EK 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5 {EA0.06ppmZEFEZ 7= H # 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1{EA%0.04ppm L _E0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
TR AREIEBAR 28 30 29 29 31 30 29 30 31 27 28 31 353
I E B RS 689 724 707 715 740 715 714 715 739 689 668 739 8554
S5 {E(ppm) 0.005 0.003 0.003 0.004 0.003 0.004 0.005 0.007 0.010 0.007 0.008 0.007 0.006
1B 1 fIE D 2= = {B (ppm) 0.020 0.013 0.010 0.012 0.009 0.011 0.023 0.026 0.040 0.030 0.030 0.040 0.040)
B FHEDREE(ppm) 0.009 0.007 0.006 0.007 0.006 0.006 0.012 0.012 0.026 0.016 0.021 0.018 0.026
1BERR{EAY0.2ppm% #E Z 1= BF R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERR{EAY0.1ppm L E0.20pm LA T D BRI SK 0 0 0 0 0 0 0 0 0 0 0 0 0
B T #{EA%0.06ppmZ #8 % 1= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B #5{EA%0.04ppm L E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
EIAER AhBIE B 28 31 30 29 31 30 29 30 31 29 28 23 349
2 B RS 688 738 716 703 738 715 714 713 739 714 668 571 8417
F #91E(ppm) 0.004 0.003 0.003 0.004 0.003 0.004 0.005 0.006 0.011 0.009 0.009 0.006 0.006
1B 1 E D &= 5 (B (ppm) 0.019 0.011 0.010 0.019 0.012 0.017 0.022 0.026 0.038 0.042 0.046 0.036 0.046
B £ #1E D 5% = {E (ppm) 0.008 0.006 0.006 0.008 0.007 0.006 0.013 0.011 0.026 0.018 0.017 0.021 0.026]
1BRAEHY0.20pmZ #E 2 1= BERA 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REE AY0.1ppm L £ 0.2ppm LA T D BRI EK 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5B £30.06ppmZE 2 2 1= B 31 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1{EA%0.04ppm L _F0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HMIL{ERER AMRITEEE 26 27 30 29 31 30 29 30 31 29 28 31 351
I 2 B RS 676 658 716 712 740 715 714 716 739 715 668 737 8506
SE5{E(ppm) 0.004 0.003 0.003 0.004 0.003 0.003 0.004 0.006 0.009 0.007 0.007 0.006 0.005
1B ] fIE D 2= = {B (ppm) 0.019 0.013 0.013 0.014 0.018 0.013 0.020 0.029 0.038 0.040 0.037 0.033 0.040)
B FHED RS E(ppm) 0.010 0.005 0.006 0.007 0.007 0.004 0.010 0.013 0.027 0.022 0.016 0.018 0.027
1 BFREE HY0.2ppm % #8 % 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0




[ 1B REE AY0.1ppm L E0.2ppm LA T D BRI EK 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5B 530.06ppmZE 2 2 1= B 31 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1{EA%0.04ppm L E0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
FKiR&M AMRITEEE 28 31 30 29 31 30 29 30 31 29 28 31 357
I E B RS 686 738 714 714 740 715 713 715 739 714 668 739 8595
SE5{E(ppm) 0.006 0.004 0.003 0.004 0.003 0.004 0.005 0.008 0.011 0.011 0.009 0.009 0.006
1B ] IE D 2= = {B (ppm) 0.027 0.018 0.011 0.014 0.015 0.013 0.024 0.027 0.048 0.056 0.063 0.048 0.063]
B FHEDRESE(ppm) 0.015 0.007 0.006 0.007 0.008 0.006 0.012 0.014 0.029 0.035 0.031 0.024 0.035
1BFRR{EAY0.2ppm% #E Z 1= BF R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERR{EAY0.1ppm L E0.20pm LA T D BRI SK 0 0 0 0 0 0 0 0 0 0 0 0 0
B T 1{EA%0.06ppmZ # % 1= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B S #5{EA%0.04ppm L E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0
RHEEH ABIEBR 28 31 30 29 31 30 29 30 31 29 28 31 357
2 B RS 685 739 713 713 740 715 714 715 739 713 668 739 8593
F 915 (ppm) 0.004 0.003 0.003 0.003 0.003 0.004 0.004 0.006 0.008 0.007 0.007 0.005 0.005
1B 1 E D &= = (B (ppm) 0.016 0.016 0.010 0.011 0.011 0.017 0.019 0.025 0.045 0.047 0.049 0.031 0.049
B £ #1E D 5 = {E (ppm) 0.008 0.006 0.005 0.006 0.006 0.006 0.009 0.012 0.019 0.020 0.024 0.013 0.024]
1B¥RAEHY0.20pmZ i % 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
|1 REE AY0.1ppm L E0.2ppm LA F D BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5 {EA0.06ppmZEFEZ 7= H # 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1EA%0.04ppm L _E0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
ERERE AMRITEEE 28 31 30 29 31 30 29 30 31 28 28 31 356
I E B RS 691 736 716 712 740 715 718 715 739 694 668 737 8581
SE5{E(ppm) 0.004 0.004 0.003 0.004 0.003 0.004 0.004 0.005 0.006 0.006 0.007 0.004 0.005
1B 1 IE D 2= = {B (ppm) 0.023 0.024 0.015 0.025 0.015 0.021 0.026 0.036 0.029 0.037 0.036 0.021 0.037]
B FHED RS E(ppm) 0.007 0.007 0.005 0.007 0.004 0.006 0.008 0.013 0.012 0.018 0.014 0.010 0.018
1BFRR{EAY0.2ppm% #E Z 1= BE R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RR{EAY0.1ppm L E0.20pm LA T D BRI 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA%0.06ppmZ # % 1= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B S #5{EA%0.04ppm L E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0
HAEXsRE AhBIE B 28 31 30 29 31 30 29 30 31 29 28 31 357
2 B RS 690 740 716 712 739 715 711 715 739 715 668 739 8599
F 915 (ppm) 0.004 0.003 0.003 0.004 0.004 0.004 0.003 0.004 0.004 0.004 0.005 0.003 0.004
1B 1 E D &= = (B (ppm) 0.020 0.043 0.014 0.038 0.053 0.038 0.023 0.032 0.032 0.036 0.029 0.016 0.053
B £ #1E D 5 = {E (ppm) 0.007 0.006 0.005 0.008 0.010 0.008 0.007 0.013 0.010 0.016 0.011 0.007 0.016]
1BRAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
|1 REE AY0.1ppm L E0.2ppm LA T D BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5B £530.06ppmZE 2 Z 1= B 31 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#{EA%0.04ppm L _E0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
BHER AREIEBA 28 31 30 25 11 17 29 30 31 29 8 31 300)
I E B RS 689 740 715 620 258 425 714 709 735 713 193 737 7248
SE5{E(ppm) 0.001 0.001 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001
1B 1 fIE D 2= = {B (ppm) 0.010 0.008 0.009 0.018 0.007 0.009 0.011 0.011 0.012 0.014 0.013 0.012 0.018]
B FHEDRESE(ppm) 0.003 0.004 0.002 0.002 0.002 0.003 0.002 0.004 0.002 0.007 0.006 0.003 0.007
1BFRR{EAY0.2ppm% #E Z 1= BF R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERR{EAS0.1ppm L E0.20pm LA T D BRI 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
B {8 A%0.06ppmZ#8 % 1= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B $5{EA%0.04ppm L E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0
el AhBIE B 28 31 30 29 31 30 29 30 31 29 28 31 357
72 B RS 693 740 716 713 740 715 711 712 736 712 663 736 8587
F 915 (ppm) 0.002 0.002 0.002 0.001 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
1B 1 E D &= 5 (B (ppm) 0.013 0.019 0.006 0.013 0.008 0.007 0.009 0.012 0.016 0.015 0.017 0.010 0.019
B £ #1E D 5 = {E (ppm) 0.004 0.004 0.003 0.004 0.003 0.004 0.003 0.003 0.004 0.004 0.003 0.004 0.004]
1BRAEHY0.20pmZ #E 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REE AY0.1ppm L E0.2ppm LA F D BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
| B {8 530.06ppmZE 2 2 1= B 31 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1{EA%0.04ppm L E0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
EE] AMRITEEE 28 31 30 29 31 30 29 17 31 29 28 31 344
I E B RS 695 740 716 719 740 715 711 434 735 713 668 739 8325




F#{E(ppm) 0.004 0.003 0.003 0.003 0.003 0.004 0.004 0.005 0.005 0.006 0.006 0.005 0.004
1B 1 E D &= 5 (B (ppm) 0.019 0.015 0.016 0.013 0.011 0.013 0.020 0.028 0.027 0.040 0.032 0.038 0.040
B £ #1E D 5 = {E (ppm) 0.007 0.006 0.006 0.005 0.005 0.005 0.007 0.011 0.011 0.017 0.013 0.013 0.017]
1B¥RAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REE AY0.1ppm L E0.2ppm LA F D BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5 {EA0.06ppmZEFEZ 7= H E 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1EA%0.04ppm L _E0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
R TR AMRIFEEE 28 31 30 29 31 30 29 30 31 29 28 31 357
I E B RS 693 740 716 719 740 715 713 713 739 715 668 739 8610
S5 {E(ppm) 0.006 0.005 0.004 0.004 0.004 0.004 0.005 0.006 0.007 0.006 0.007 0.006 0.005
1B 1 IE D 2= = {B (ppm) 0.024 0.025 0.014 0.016 0.012 0.018 0.021 0.029 0.033 0.039 0.043 0.036 0.043]
B FHED RS E(ppm) 0.008 0.011 0.006 0.008 0.006 0.007 0.010 0.011 0.020 0.020 0.023 0.012 0.023
1BFRR{EAY0.2ppm% #E Z 1= BE R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RR{EAY0.1ppm L E0.20pm LA T D BRI 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
B T 1{EA%0.06ppmZ #8 % 1= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B $5{EA%0.04ppm L _E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0
HETH AhAIE B 28 31 30 29 31 24 29 30 31 29 28 31 351
72 B RS 690 740 714 719 738 581 713 714 739 713 668 739 8468
F#{E(ppm) 0.006 0.003 0.003 0.004 0.003 0.004 0.004 0.007 0.010 0.011 0.010 0.009 0.006]
1B 1 E D &= 5 (B (ppm) 0.036 0.014 0.013 0.014 0.010 0.015 0.022 0.027 0.040 0.047 0.053 0.049 0.053
B £ #1E D 5% = {E (ppm) 0.018 0.007 0.005 0.006 0.005 0.006 0.009 0.011 0.023 0.029 0.024 0.024 0.029)
1B¥RAEHY0.20pmZ i 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
|1 REE AY0.1ppm L E0.2ppm LA F D BRI EK 0 0 0 0 0 0 0 0 0 0 0 0 0
| B 5 {EA0.06ppmZEFEZ 7= H # 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#1{EA%0.04ppm L _E0.06ppm L T D H 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
L FILR AMRITEEE 28 31 30 7 31 30 29 30 31 29 28 31 335
I E B RS 692 739 715 195 738 712 713 714 738 714 667 739 8076
SE 5 {E(ppm) 0.018 0.014 0.013 0.013 0.011 0.013 0.014 0.018 0.023 0.020 0.026 0.022 0.017
1B 1 IE D &= = {B (ppm) 0.051 0.037 0.033 0.033 0.028 0.035 0.035 0.046 0.064 0.060 0.066 0.065 0.066)
B FHEDREE(ppm) 0.028 0.024 0.019 0.016 0.017 0.019 0.025 0.028 0.042 0.040 0.051 0.045 0.051
1BFRR{EAY0.2ppm% #E Z 1= BF R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERR{EAY0.1ppm L E0.20pm LA T D BRI 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
B {8 A%0.06ppmZ #8 % 1= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B 15 {EA%0.04ppm ELE 0.06ppm LT D B %K 0 0 0 0 0 0 0 0 1 1 3 3 8|




